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BECE-002 : INDIAN ECONOMIC DEVELOPMENT :
ISSUES AND PERSPECTIVES

Time : 3 hours	 Maximum Marks : 100

Note : Answer all the sections as per the directions given

in each section.

SECTION - A

Answer any two questions from this section. Each answer
should be in about 500 words :	 2x20=40

What is Human Development Index ? What are
its basic dimensions ? Also explain why Gopal
Krishna Gokhale is called the pioneer of
economics of education ?	 5, 8, 7

How are saving and investment measured in
India ? Examine the long - term behaviour of
investment in India. What changes have occurred
in it during the last decade ? 	 5, 9, 6

State the objectives of monetary policy in India.
Also examine the different instruments that are
employed to achieve these objectives. 	 5, 15

Examine the changes in the volume, composition
and direction of India's Foreign Trade since 1990.
Also explain, in brief, India's 'Look East Policy.' 	 15, 5
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SECTION - B

Answer any four questions from this section. Each answer
should be in about 250 words :	 4x10=40

Examine in brief the nature of energy problem in
India. Also state the measures that have been
taken to solve it.

Briefly outline the three phases of agricultural
transformation in India.

Discuss in brief the important reasons due to
which the operation of MNCs are favoured but
at the same time feared by a developing economy.

How is the rate of exchange of Indian rupee
determined ? When and how does the Reserve
Bank of India intervene in the foreign exchange
market ?

Make a critical assessment of the education policy
in India since independence.

Briefly mention the different uses of water in the
economic life of a nation. Also discuss in brief
the issues related to water-resource in India.

11.	 What do you mean by 'demographic dividend' ?
Has India reached this stage ?

BECE-002	 2



SECTION - C

Answer both the questions from this section, as directed :
2x10=20

12. Distinguish between the following (any four) :
4x21/2=10

Economic Growth and Economic
Development.

Social Infrastructure and Economic
Infrastructure.

Revenue Deficit and Fiscal Deficit

Tax and Subsidy.

Extensive Cultivation and Intensive
Cultivation.

Gross Capital Formation and Net Capital
Formation.

13. Write short notes on any two of the following :
2x5=10

Factors behind women Disempowerment

National Sample Survey Organisation

Poverty in India

Sex ratio in India
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